il

g
=
s
i

1. ¥¥4
¥4 R 6 ZFREERS K (2 TIX) ESGEEAEREH
JBA T JEE R I8 VR T /K T A AR B i

2. EBEAR
1) FHEI4 KRB EEEHT L% R

183 HTH B 4f 64 6H28H

2) JE1THIR
£ o 6F12H27H

3) EXEIEEA
AR, KEBR)EREFHHTENO—REE 2 2 0 5HREF LD 2 TXIC

BT, EBFMRGT 21T O ¥ B TH D,

4) FEHBNA
BE TEERIRER) 0LBb,

E+sZi@E SN



PR NER =

ull
P

W4 | R6FRBIBS (2 TR) BRI EH Y E BOES
HH JE R
THH - T - fER] A7 ¥ = 4 % OB ORR
TR = 1 13, 196, 132
JEREE 2y 1 5, 293, 407
TERE R 2y 1 5,293,407 | EFEAIRREE (A)
(1.1 )1 (km) =
#ER.1/1, 000
AR ZE AR R =X 1 1, 869, 332
R AR ZE G RN 2y 1 1,869,332 | A A EFEMRRE
2 &
#E R 1/500
yee Y s = 1 2, 058, 666
Y It S E2V 1 2,058,666 | 71w s R#E
(1 )1 (f&p) =K
— Rt EYER R = 1 3,974, 727
4&&*%%%%3?%&%&% ﬂ 1 3, 974, 797 %ﬁ@@(ﬂ%
(1 )1 (&) 20
EEpaFav i
(1 )1 (&) 20
e
(3.1 )1 (Bpn X
KT 1 7 FElEEE
(1 ECEGHEN
gt [Tt 5 h-2ERE ]
(1 )1 (&R 20
ELSG = 1 876, 800
Hom GREHER) = 1 876, 800

-1- E+sZi@E SN



==
=]

m
2
%

W4 | R6FRBIBS (2 TR) BRI EH Y E BOES
H H L3l
THH - T - fER] A7 ¥ & 4 % OB ORR
HEv% EY 1 652,400 | ¥TAHE
1 =
BIFRHSREFT &tk
1 ]
Z D 2y 1 97,200 | HEHIFEIC L DL
3 [A]
INBH AR S ERK 2y 1 127,200 | ZABEIR%SR S VER
1 E30
[ERES S 52V 1 590, 029
[ERc S~ = 1 590, 029
P i =y X 1 87,029 | k% (SFEE - BmAME)
1 A
%%Eﬁ%ﬁlﬁzﬁk% ﬂ 1 503, 000 %%Eﬁ%&ﬁzﬁk%
1 A
B (Z Ot mER <) X 1 14, 662, 961
Z DA = 1 7,438, 948
— I A = 1 11, 898, 091
EHATRE = 1 34, 000, 000

-2 - E+sZi@E SN



